e gt = YU

////////////m////f h J f 1 l J l \\ \\\\\\\\\\\\\\\x
|° 4 I’ _.«////////////////////// IR

222NN

- NN

. t//////////// ,, ‘\\\\\\\\\\\\\\\
// /




Lo g 31 J gl

PNE AT 99 g ClT 9 S ST
oL wwﬂ,c&&,wufugwwgﬂu&,yﬁ/
bwf‘w‘ w\,uj\ws\,uu,wmj,ﬂ,\uscb,

. =




2 o g o SI31 J ol
—g—] s

Zn (s) + Cu?t & Zn**+ Cu (s)

Less reactive metals Zinc +0.763 ___
Gallium +0.53
Iron +0.440
N Cadmium +0.403
pb’ Indium +0.335
3 Thallium +0.335
YLP\ > Cobalt +0 277
: . =
O‘) w‘ﬂ%gufud‘jw‘c 4§L’
Lead +G.]2'5
2 Hydrogen 0.00
Least reactive metals Copper —0.337 o> 4o
(noble) Mercury —0.789

Cu — LU + ze

2H* + 2¢ = H,
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L 750 & 2H* + 2¢ = H,
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5 > 31 Less reactive metals Zinc +0.763
PR g £ LS g | . ge— Gallium +0.53
g 48 - Lron 0440
i’:z o 0 . — R N2 ~~Cadmium +0.403
'x; 3 o e - ‘ « ¥ & Indinm & o ‘ R ‘:0.335. ‘ .
- o = —] L >u«5- Tiivg 9 035"y | Lo
’i = = - = = - B -~ 2 O’) balt o +0.2 - * .
B =il - S Nickel +0.250
s.E:i zn2+ - j‘ Tin +0.140
— H* o 5% Lead +0.126
- . e " = Hydrogen 0.00
=T ;
Least reactive metals Copper —-0.337
(noble) Mercury -0.789
Silver —-0.799
Platinum-group metals -0.8t0—-1.2
Gold —1.50

2H* +2e = H, KR g
2H,0 = 0O, + 4H" + 4e
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v [PE| H [HS,CIF| AgCl [Ag s

H, + 2AgCl - 2Ag + 2H" + 2CI

AgCl+e=Ag+Cl" A0S s Slais ! eleiiS| 0.222
0,+H,0 +2¢ = HO,” + OH | 52 =Sl 6080
2H* + 2¢ = H, } 4T 55 Il sl

CL(g) + 2e = 2Cl1— 1.358

Sl jdy S8 s (28Tl ol el sl e s 2
2Ag +2H" + 2Cl" - H, + 2AgCl o

AgCl+e=Ag+ Cl™ R . 0.222
Agt + e = Ag R 0.799
Cl,(g) + 2¢ = 2CI~ 1.358
O, + 4H* + 4¢ = 2H,0 } SIS s Sl sletiSTs 1.229
2H* + 2e = H,
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/n*"+2e < 7Zn
Fe3™+ e <> Fe?"
Cl,+ 2e < 2CI-
NO; + 10H' + 8¢ «» NH,"+ 3H,0

20+ H,0 < 20H +H,
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/n < 7n**+ 2e

Ag— Ag+e

2Clr & Cl, + 2e

Fe’t <> Fe’t+ e

NH,*+ 3H,0 < NO, + 10H" + 8¢
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